35.
37.

39.
41.

43.

45.

47.

logz = -2 < z=10"%=0.01

log(3z+5)=2 < B8z45=102=100 <« B8z=95 & z=% ~31.6667
2-In3-2z)=0 & 2=I(B-z) & e=3-z & z=3-¢e’~-43801
log,3 + log,z = log,5 + log,(z —2) < log,(3z) =log,(5x —10) & 3z =>5zx-10
& 2z=10 & z=5

logz +log(z — 1) = log(4z) <« loglz(z ~1)] =log(dz) & *-z=4z &
22-bz=0 & z(r—5)=0 = z=0o0rz=2>5. Sothepossible solutions are z = 0 and
z = 5. However, when 2 = 0, log z is undefined. Thus the only solution is z = 5.

1 1
logg(z+1)—log(z—1)=2 <= logs(—-*——I> =2 21_1
z+1=250-25 & 24x=2 & z=13

logy(z —5) +logg(z+3) =1 & logf(z—-5)(z+3)]=1 & (z—5)(z+3) =9
& 22-22-24=0 & (z-6)(zx+4)=0 = z=6or—4. However, z = —4is
inadmissible, so z = 6 is the only solution.
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